(RRIZIE. LA O E S E R 308U LD AE.
(MARIZIE. 18R DR E F5 @B RE AV 2085 R LA L 30BFRA R D
BHOEEZEALTLESLY,

(1 )4
BAREEXRSEOPSEDES QHD ZEEALSL,

. i e , N
= " = 5 5 EAEL E TN R
(MHRIZIZ. O TERALE=HE(MIBTEA L= ZF0.5ELI- %% I (% 1‘!;n‘-v'_;-f,:;_l] HEE) J1. 000A] (L EsEES 1] {\" -’
ﬁ%bf:ﬁéEE)\LT(TiéL\o VAN Ml o K ‘\ \] P .’.'/ (1) W R ’I]_l " ‘/
&E7) 1[:_'1_”& an{;H; AR ,(.’ 210A () ERok& [32] (\ 2 ;)
1,000 A + (420 X 05) = 1,210 A (EERBBELEOHEED == :['\.':-"p’—iﬂ-é%»,?.q.t:l_ T AK y 2 J\
# [(n) > (M) pmconis <)) | VO Y

(I )
BEBXOELLFXDOBRENSE 1 DR RBRTEXE
[CERETHIBEDH. EDRELAL TSN,

(R > EESHKEES
RAIEL CHHBESEFIROER RS F2BEEN DT
<7

B > EESAREEUNOSAEES
RAIELTHAME S FIRO SRR S6RESN S
8

R > EEMIEEE
RERMA. EEEBEL I —FICKVAMESTE CHIE
SNFADSE, MMEZEDRENENLHIESh=ATY,

(W > EENMEEZEELUSNOMMEESSE
REMRA. EEERELA—FICEYMMESZELHIE
SNF=ADSEH, MHEZSORRENELHIFISN A LUND
ATY,

AR > BaEEE
RARBEEBAFIROZAERZITTLNSATY,

(IV )4
(MRDHI(IFDRN RERLTH B ERBUEO%
(NRDED DEERRU-HE TERALESEL,

GtE=D)
() — { ()X (MXIHBENET )

1)
EHERAFTEESH 1210A x By FE0.2 =244

TSHERSEES 1,210 — 242 A = 968 A

[#1] B DR SGEOEFCED EREALTIES
[#2] B VIR S BT ML R oo 3 M) oW =4
i -1 b
T B S i o A8 @ R A sp R oo A gk
() T R o | RYEE R R LA
7 bt M mA% i
VEEEEEFEELAD N ECEEET L
P RE DAY 4 S i
EEETE T i
% o )3 - FLRENN 5 £ ’
() EEE Sy (kR LU (7) EEE SRR E A LSO
HERmELETHD 4k FHERHEHRTHS 3 i
FEM SRS o LK il % W o MK )
TN i & EIE O] e F - g i 5
2) 0.5 o [(R%2) +#+7+ (750, 5) i

R R EEES DA

ERE

(R)(A)NR)OV) QIS (& LER DR E H B30 A LD A ZE.
(MEFENNH RO EERE @8 E 1. LEROFTE S BERE 20
Bl LA _E 30BF R THAHAZILAL TS,

(1) RN ; e,
[ARS - A [y +im+ 0]
D RER T 5 g R = e
N L%+ {=) = 100] \" "y
| AikRER, e ReE R L T
V] 2.6 Ak
F -\
(oA
o ) (D M E R R
SRR E FWROS®EN 1 RE 3
=7 I 5 (W~ FRAMCEY T A FoRE Rk

AV, AR T

@EMERL 2

b i U A HE L

RERER
NIRRT EMZME R AL HERR AL TZELY,

GtE=)
(EDE + (2)ED% % 100

(REEH)
22N + 968N X 100 =2.272 = 2.3
UM RUTEMMZEMIERA)

2THESR2Z2AMBECIEARLRT
THE6H2HLEVENCEGCATLGNRTZHT,
EEThETE

- TS5 b

51 A EA# i HE

TN

EEERAEIF23%LEH>THEYFET DT, ROEBYFHELT =S
W s, HEREN YA FTRELGDHGEE FEOEL TS,

GtE=D
(2)ED% x 2.3 + 100 EHHBYHET)) — (VDK

(FE &5
AR EREERICWELGEREEEROHE

968 A X 2.3 =+ 100 = 22.264 N = 22 N\ (iHZ U1 T)
FRHEIZZRDHE

2N — 2A=0A
HKABHMNELEGE. STERER TN EUTEIRFETIEALT
S, (FREHD0SANELDZBEEHYET,)




